Name: Score:

Two-step: S2

- @entifying Graphg

Choose the correct graph that best describes the solution for each inequality.

) |2x]|-17>15 2) -|3x+9|<15
a) o b a) 1
-32 -16 0 16 32 48 64 -12 -8 -4 0 4 8 12
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X+9
7) |x-3]-15=-6 8) u <3
6
a) a) —H+H—+—+—+—+—+++++-o—+1>
-15-12 -9 6 -3 0 3 6 9 12 15 18 21 -36 -27 -18 -9 0 9 18
by “+—++++"+"t+—"4"1¢1+—1> b) <t+—t—o—4+—+—+—+—+——+-+++1>
-15-12 -9 6 -3 0 3 6 9 12 15 18 21 -36 -27 -18 -9 0 9 18
Q) o ottt
-15-12 -9 6 -3 0 3 6 9 12 15 18 21 -36 -27 -18 -9 0 9 18
d) No solution d) ¢+—+——=++-++t+++o+1>
-36 -27 -18 -9 0 9 18
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